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: ﬂﬂ"l ) NO. 1 TO Q NO. 45 QS. In the given circuit, the current in the
e powe factor of a chock coil at a frequency resistor is i
P of SOHz 18 J2. 1 the frequency is doubled, then -
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02 I Young's double slit experiment, the
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Q6. A charge qis uniformly spread on a thin ring of
radius R. The ring rotates about its axis with a
uniform frequency ‘f". The magnitude of /
magnetic induction at the centre of ring is y
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 SERIES-C

Q 132. A mature pollen grain contains

A A vegetative cell and a single male
gamete

B A vegetative cell and two male gametes

C Two vegetative cells and a single male
gamete

D Two vegetative cells and two male
gametes

Q 133. Filiform apparatus helps to guide the pollen
tubes towards the egg. These are present in
A Suspensor
B Antipodals
C Central cell
@D Synergids

Q 134. In most of the Angiosperms,

A Egg apparatus is present at the chalazal
end
& B Embryo sac is 7-celled, 8-nucleate
C Endosperm is diploid
D Seeds are produced by apomixis

Q 135. Haemophilia is

A An autosomal dominant trait ‘
B An autosomal recessive trait

® C  AnX-linked trajt
D A Y-linked trait




